rigonometric Réﬁdé’ g(/)

g metr‘léﬂratibs of £ A for the following: o
3 a+ b =10 2 4 3

= AS(o
R T
A4 5 s g/ 5/3
sinA = o cscA= Z sinA= /5 csCA =
o _lofau 4 5
JauT /5 secA= /L/

COSA= —, SecA= 'f—_'a‘{‘! 247 cosA=
1
P
tanA=--6—*/1.qa;tA=—-%LL——l tanA=3/1/ cotA= % Zeac(/\(zq)

\E{lﬁ N e
Set up a ratio and solve for the indicated side or angle to the nearest tenth. Show the ratio that was used.
3 4, gea dﬂ ((ﬂ>
s
15 | ®
|S = xS 39
£ ’ 39°
—{'&Vl O= = 9‘:: @CI, 40 2\%0 ¥
2
Use a calculator to find the following ratios to the 4" decimal place. CHECK YOUR MODE!! ) QQC_\/\
e
5. cos(44°) _e I 1 _7 | ‘13 6. tan(60°) 73 A 7. cos(00%)___) 8 sin(180°) O @7)

9. You and a friend are making a wheelchair ramp for your grandma so she can get into her house without help. You
need to determine how long the ramp needs to be if it is going to hiave a 25 degree angle of elevation from the
ground to the door. The deck that the ramp will end on is 3 ft high off the

ground. Label the picture and use trig ratios to see how long the ramp needs
to be. i =] \\ (g)
g = 4
SINAS =2
) X
&
2 :_ x » gi“r\&g

X= "7, |+

/
10. A 102t )té&iasts hadow that is 125 feet long. What is the angle of elevation to the sun from the ground? ( )

VEN
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AFHau\iz 1 Form A: Trigonometric Ratios /6/0 Name: K &(j

Find a) 6 trigonometric ratios of £ A for the following:

1. S&Jr b‘;: HOJL g, 4 3
16 Qb= 2S00
3 bJ\: Y™

A b= {aq7 A
Jay 7 : 5/3

Al 3 b 3 / R
sin = e = H = =
10 csCA 2 sin A 5 csc
Eos o leyf2u cy 9%/
CosA= —, secA= 3‘1'71 27 cosA= /5 sec A=
3 /@ a7 4
e 3
tan A= —2==70cdt A= ~2— tan A = /z/ COtA = /3 Zga(_(n(ZLD
Set up a ratio and solve for the indicated side or angle to the nearest tenth. Show the ratio that was used
3. . Zeacln [ u)
3 8
15 | )( i
0 }; = ¥ SN
€ . 'y O 39°
—Huq@-— — &= L. 45 AP ¢
o
Use a calculator to find the following ratios to the 4™ decimal place C‘HE:CK YOUR MODE!! deal ;(\
5. cos(44?)_e 111 7 | C]_% 6. tan(60°)_", ’ o 7. cos(90°) 8. sin(180°) O (?)

9. You and a friend are making a wheelchair ramp for your grandma so she can get into her house without help. You
" need to determine how long the ramp needs to be if it is going to have a 25 degree angle of elevation from the
| ground to the door. The deck that the ramp will end on is 3 ft high off the
| ground. Label the picture and use trig ratios to see how long the ramp needs

| to be. .
SN 9\5 =3
X

2 7( Sw"\c)\g
X="T7.1H

e aah
1 10. A 102t ﬁﬁasts hadow that is 125 feet long. What is the angle of elevation to the sun from the ground?

JOPN

e PR e

- W=l
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.i 1 Form B: Trigonometric Ratios Name:
4l 6 trigonometric ratios of £ A for the following: P\
2.
3
16
2 3
A/ 5 (] b\

3 B K 2 1o
snA= 7 cscA= R oé-e"ﬂ*': [ NS T i

b2 2 heerﬁ @ seCA= 1B g , 237
cosA= T secA—Lf gm 16 m

g — A - ____.g——-—- L tA = \J 7
tan A= ,"T cotA= 2 tan -\[.5/7
Set up a ratio and solve for the indicated side or angle to the nearest tenw ratio that was used.

3. 4,

15 " ;B‘g
P

/

s O
b4

Use a calculator to find the following ratios to the 4" decimal place. CHECK YOUR MODE!!!

1 | 72 Q1 . : O
5. cos(44°) 3 6. tan(60°)_i. 7. cosia0) . 8. sin(180°)
9. You and a friend are making a wheelchair ramp for your grandma so she can get into her house without help.

Y.ou need to determine how long the ramp needs to be if it is going to have a 25 degree angle of elevation from the

ground to the door. The deck that the ramp will end on is 3 ft high off the
ground. Label the picture and use trig ratios to see how long the ramp needs

to be.

“Tol £+

10. A 102-ft tree casts a shadow that is 125 feet long. What is the angle of elevation to the sun from the ground?

29, 3" it
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AFM Quiz: Law of Sines vs. Law of Cosines Name: l< EY

Solve for the indicated side or angle. Round your answers to the nearest hundredth.

@ B 2. I'-”lndm% g 3. Find AC. \5 "H
. /
/\.

29

c 16
A 9/\‘-\0__ s\A 33
C A o 2 B . ay = \o
A ag® = 2D NcosH  gasl 93
c = 29.949 b = a
_ . 0SS
4 Findmza S €22 A% % 2 :’\—&(“)(Mys. Find AB B
(06.@9 C =4S A 3.0~
e a
i . s 3 (3f1a
52 ~_§|r\5;l=__ SIN A = +|3~ Ci(sg;‘l.i
sy - c=&3.0~
A 12 o]
Determine whether the Law of Sines or the Law of Cosines should be used to solve the following triangles.
DO NOT SOLVE!N!!N B I
6. a=13;b=15,c=16 7.C=35%a=11.b=105 /______.\E‘._—-
L OC R LOC. A e S
NS £~
8. b= 1?’ B=45°; a=12 "_;" \\“59 9. A= 400 c= 14 C=70° l”“, \7\0
| A

Solve for ALL POSSIBLE triangles that can be formed using the given information (all angles and all sides). Round angles
to the nearest degree; side lengths to the nearest hundredth.
O

10. A=38%b=10;2=8 0, = 30> 1. A=40% B=60% c=20
a0 o eia "H/ Q"%O_?D =50 #1395 17.59
12. b=10;A=140°a=3 T 13. C=17°,a=10;¢c=11

B G o ’\JO—]’& AN A= IS°B=IL{8°b= 19.94
14.c=1$1;A=29°;b=7.B OR 15 C=21;a=14,B=60°
B=i5_0=5 OF_E.Q\O R —-Q"[ A_qc? b-u ;19 5,08

O =lad’
-——?‘a
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D oV smA 50— 15 =165
O W OIO @ /@5_,,/74.!?0 No

®%) 782 247D ces AT

| ) (R= 6 » A D C L+
@ SNl s @ |4+ Aﬂ 80
¢ A ' | °
C =56 B =9%° 2
\S % "
w\g\"\ ,?i/‘r‘{g,_ g!\j\ S*r\qol <1 A0
j C H T 4= b
A_,___qq" C:5.02 b:f& K
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Io) * c
3@9 \0

A@ Sin 38 _ Sk
8

1O
B =50
C =9x°

g".(\ 2% _ ST N
— =

3 fﬁ,‘iQ: s
o 2 |0
. 0

() 180 ~-50= 130
2% 4130 <180 7 Yes
2 =130
C =1a°
4_"\«\2%

_ S’w'\ D_‘
—F =

o
C = 3,70
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